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2. -Attémp‘t any five parts. 10=2X5 -

() How» would you define Organic Chemistry with one eiﬁmplé?

(i) D’ifferentiate between atomic number and atomic mass.

(i) -

Complete the equation.
(~iV) » Fér v:vhat burpose U e 235 is used?
(v) K ‘Why the noble gases are not reactive?
’ (yiv).' Define Ionization energy and write its unit.

"ngscribe Mendeleev’s Periodic Law.

; " What is the _tfehd of ]‘Eléctronegativity in group from top
-~ tobottom? ‘
3. Attempt any five parts. 10=2 X5
(i) - How does hydrogen bonding affect physical
~ properties of molecules?
" (i) What is meant by triple covalent bond?

iii)

(iv)  What is meant by amorphous solid? Give an example.

. Why does a Covalent bond become Polar?

S How evaporation is affected by intermolecular forces?

o

Whiat is meant by-Molarity?
‘((viif)’:' ; Differeriﬁate bet‘Ween,dilute and concentrated solution.
(viii) Define Saturated solution.

4. ~Attempt any five parts. 10=2 X5
(i) . Define Electrolytés and Non-electrolytes.

. (i) " Write the difference between Anode and Cathode.

(iii) Define Alloy. Give one example.
© (iv)  Write redox reactions involved in electrolytic.refining
-~ of'copper. ' '
< (vY  Write two uses of Magnesium.
(vi) - Write two chemical properties of non-metals.

(vii)  How does Oxygen react with elements of Group-I metals?

~(viil) - Why does Bromine exist in liquid state in Halogen group?
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' 18=2X9

NOTE: . Attempt any two questions.
"5.(A) How does write a chemical formula?
(B)
6.(A)

Write down four properties of canal rays.

‘Define covalent compounds and write

‘ their four properties.

() How does boiling point of liqisid -

depend upon the nature of liquid and inter
molecular forces.

2+2

7.(A) " Discuss the redox reaction 5 :
. taking place in fhe rusting of iron in detail.
'(B)- Define Molarity and write its ‘ 4

formula to prepare molar solution.
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